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MPPSC Prelims Exam 2013 General Studies (Paper - II) Answer Key

Directions : From guestions number 1 to 4,

there is a statement followed by two

assumptions numbered I and I After
considering the statement and given
assumptions you have to decide which

assumption is implicit in the statement 7

(A) If only assumption I is implicit.

(B) If only assumption IT is implicit.

(C) If neither assumption I nor
assumption I is implicit.

(D) I both gssumptions 1 and II are
lmpllrc;!t?

1. Sphlnmt Many institutions have

éoaﬁnrphcdl on-line  method of
& conduocting their examinations.

o\ - Assumption I : It is possible that
candidates from all parts of the
country are adapt at computers.
Assumption II : The on-line method
of examination helps to recruit more
qualified people.

2. Statement : The Municipal
Corporation has informed the people
that to avoid water borne diseases

they should boil water before \6"’

 drinking. S
Assumption I : People will stll
drink water without boiling.

Assumption II ; People generally
overlook such advisories issued by
the Municipal Corporation.
©

3. Statement & A nationalized bank
gave an@dvertisement in a national
daily.Phat eligible candidates may
app‘l}? for 120 posis of Chartered
CCountant.

S Assumption I ; Eligible Chartered
Accountants will reply to this
advertisement.

Assumption II : There will be
enough eligible Chartered Accountants

who want to work in the nationalized g &

bank,
SET-C

4.  Statement : In order to attract people
the city (ramsport corporation has
introduced air conditioned buses on
various routes for those who go to their
work place in own vehicles. This will
help in reducing traffic on roads.
Assumption I : Most of the people
will prefer to go to their work places
in their own vehicles.

Assumption IT : Many people willo®
now choose the options of ;
buses to travel to their work plax@%

Directions : In Question Nos. § tg,‘f below
there 15 one statement follo by two
arguments I and I1. You ha% to decide
which argument is ‘strong’ “and which one
i5 “weak’, based on your decision you have
to choose one of the following options :
{A) Argument I is strong. .

(B) Argument I is strong,

{C) Both arguments [ and IT are strong,
(D) Jﬂelmer argument I nor II is strong,

5& Statement : Should mutual funds be

&7’% brought under governmenteontrol 7 g

Argument 1 : Yes, this is the oply
way in which the interest ugfz%}.lm
investor can be ensured.

Argument II : No, the ernment

will not be able o harpd@\u

6.  Statement : Should YT.EH: government
ban all types of protests and sit-ins. 7
Arpument I : No, the government
should not infringe on the
Fundamental Rights of the citizens.
Argument H : Yes, this i the only
way in which maximum productivity
can be ensured.

[ Statement : Should school edr-otion
Iu: made mandaiory in India Li;-:nufr'lox“
\»Qleg:s]atmn ? Q
&@"0 Argement T : Yes, this is ﬂig@bni}'
way by which the whole cogatry can
be made educated. &
Argument IT : No, wg\\gn not have
the basic resoarces'to -miake the
whole country educated.

PAMUZOEE
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MPPSC Prelims Exam 2013 General Studies (Paper - ll) Answer Key

8  Statement : Should India acquire the

latest Nuclear weapons 7

Argument I : Yes, India’s enemies
are . continuously improving  their
Armaments.
Argument II : No, this will be
counter to our policy of global peace.

9, Statement : Should animals be killed
for the sgke of laboratory testing ?
3 Argny%nl'. 1: Yes, they are available
in 7g.lii:m:;,.r
@rgument II : No, we have always

S supported ahimsa.
.\\e>

10, A cuboid has six sides of different

colours. The red side is opposite to
black., The blue side is adjacent to
white. The brown side is adjacent to
blue. The red side is face down.
Which one of following would be
opposite to brown ?

(A) Red

(B) Black

{C) White

(D) Blue I\

11. In how many ways can four children
be made to stand in a line such that
two of them M and N are always
together 7
(A) 6
(B) 12 ¢
© 18 &

12, Iﬁ a meeting, the map of a village
Q\\ was placed in such a manner that

& South-East becomes North, North-
East becomes West, and so on. What
will South become 7
(A) North
(B} Morth-East
{Cy North-West
(D) West

SET-C

13. You are about to enter a mall when
you hear gun shots, at the same time
you observe three persons rushing
out of the mall. They board a white
car and quickly drive off. You note
the car’s vehicle number.

On entering the mall you find
that a person has been robbed and
shot at. The person is wounded but
not critically injured. Im such a S

situation you would QQ'('

(A) Carry on with your work as 3&@&
sec other attending to the @fu
and also that the mmglﬁ?lt
been captured on

(B) Offer help and mke‘(ﬂ:m victim to
a hospital.

(C) Call the police informing them
of the incident and giving them
the wvehicle number you had
noted and -also call for am

o ambulance,
X (D) Inform the management/security

&%% personnet of the incident and ask sF

themn to take immediate action. QQ

b\’*’%

14. How many times an hour hang,@nd a
minete hand of a clock a{g at right
angles during their mun@ﬁ from 1.00
p.m. to 10. p.m. ? N
(A) 9
(B) 16
{C) 18
(D) 20

15, A person gets Re 1.00 for hitting the

target and Re 1.00 is taken fmm him

if he misses the target. After having
dﬁﬂmuﬂds at the end of the game he

\"Q has ¥ 30.00. How many times did 1'55

\Q@?’Q" miss the target 7 &Q,%
& @S &
(B) 35 o
(C) 40 &
(D) 45 F
PAJEL 2813
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MPPSC Prelims Exam 2013 General Studies (Paper - II) Answer Key

Statement : Should India acquire the
latest Nuclear weapons 7

Argament ¥ : Yes, India’s enemies
are continuously improving their
armaments.

Argument II : No, this will be
counter to our policy of global peace.
9. Statement : Should animals be killed
for the sgite of laboratory testing 7
Argugsent I : Yes, they are available
in

éh‘?'gument Il : No, we have always
f:uppnrted ahimsa.

A cuboid has six sides of different
colours. The red side is opposite to
black. The blue side is adjacent to
white. The brown side 15 adiacent to
blue. The red side is face down.
Which one of following would be
opposite to brown 7
(A) Red

(B) Black

(C) White

(D) Blue

\\
“‘m

11. In how many ways can four children
be made to stand in a line such that
two of them M and N are alwavs
together 7
{A) 6
B) 12
(C) 18 ¥
(D) 24@“
OQ
“a meeting, the map of a village
as placed in such a manner that
& Sc-uth East becomes NMNork, North-
East becomes West, and so on. What
will South become T
{A) North
(B) North-East
(C) North-West
(D) West

SET-C

12.

5

R
o&’b%
K

13,

O

14‘

You are about to enter a mall » en
you hear gun shots, at the same tme
you observe three persoms reshing
out of the mall. They board a white
car and gquickly drive off. You note
the car’s vehicle number.

On entering the mall you find
that a person has been robbed and
shot at. The person is wounded but
not critically injured. In suoch mQ
situation you would \,zso
{A) Carry on with your wnrkgé‘jmu

see other attending o the victim

and also that the wdent has
been captured on

{B) Offer help and take the victim to
a hospital.

(C) Call the police informing them
of the incident and giving them
the vehicie number you had

oS noted and -also call for bn

& ambulance.

(D} Inform the mana.gen.ma’s:-:.mt}'
personnel of the incident and LE’,Q
them to take immediate action g%

OQ

How many times an hour %a‘i’:l: aodd &

minute hand of a clock dre at rigi

angles during their motfon from 100

p.m. to 10, p.m. ?

(A} 9

(B) 16
{C) 18
) 20

A person gets Re | 00 for hiving the
target and Re 1.00 is taken froe
if J@ misses the target. Adter ;1:-.-'

(o]
\&fﬂ rounds. at the end of che sames s

7,% has ¥ 30.00. How many fimes d.
miss the target 7
(A) 23
(B) 35
(C) 40
(D) 45

‘.\“
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MPPSC Prelims Exam 2013 General Studies (Paper - II) Answer Key

16. You are an officer in a Rural District.
wou have the responsibility for Rural
Development. You observe that your
office and field staff is not working
efficiently. What are you going to
do ?

(A) Scold your office and field staff.
(B} You will metivate them and
encourage them to work hard.
(C) Youg¥ill let things drift.
(D) l;w?e them material incentives.
b\’b

17. \‘ﬁuu get to know about an E!.'gume:m

\\&’J b-m-.reen two workers of your office.

From & third worker you get to know

that differences of opinion between

these two workers is affecting the
work of your office. What are you
going to do ?

(A) Talk to both workers to know
about the isspe,

(B) You will oy to go to the bmmm
of the problem by talking to all
the workers.

{C) Warn both the workers ahJuTQ\\
strict action in future.

(D) Ask the two workers to refrain
from such arguments so that
office atmosphere is not vitiated.

6

18. You are an officer in a Government
D@M%Oqt comes to your notice
that the@p is an office bill for long
dlﬂta{{é% call particularly by one
W \ier What will you do ?
\}fﬂs} Order the worker to pay the bill.
& (B) Warn the worker not to do this
again.
{C) Get the office phone to restrict
long distance calls.
(D) Ask the worker,
such calls.

the reason f-nr@

SET-C

T

an

)

19, ¥You work in  an autome dle
company. You have discovered and
created an  efficient techmigue.
During the meeting your ‘bess sgys
the technigue was discovered by his

_ son. What are you going to do 7
{A) You will leave your job.

(B) Shout and tell everybody that R
you discovered the techmigue. \)Q

(C) Call your co-workers an%éiae:ll
them that you have dlgytmmd
ﬂlﬁlﬂ‘ﬂhﬂlqm \\b‘&

(D) You will ask x@"ﬁ: boss the

reason for his lie and make plans
for such contingency in fisture.

20. You are a Government Officer. You
ﬁnd that there is a complaint against
< ®your subordinate. What will you do ?

.Q@"é (A) Suspend him. - 600
’Q (B) Institate a&n enguiry in @‘ha
context of the mmpia-..r..th S
(C) Punish him. \@%@
{D) Ignore the cnmplmﬁr;,
21, Your boss has asked you fur a job for
which you have to go out of e ¢iy.
At the same time yomr chuid ix
suddenly fall ill. What are wen going
to do in such a silcaton 7
(A} Go home taking lea 2.
Gﬁ} Tell your boss it is nof [ ssb g
@“'Q. to leave your house af ﬂﬁ-" g 'o >
o
& (C) Beready to goout of tlwgﬁ"v
Q}O

(D)} Apprise youw l'-um\. of the
sitpation and the; )\\?'mss. e

PrOZrATMME. &

LT} B
i

N

N et
LT L
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9
23, You are the officer-in-charge of a - 24, The greatest possible length of 2

walp d to measure
; ) . 2o a scale that can, be use
polling station. During votng exactly the following lengths of cloth;

group of! Manisls soRe: §od ) T 3m 5Sml10cmand 12 m 90 cm, is :

disrupt procecdings by te:_rmriz_ing 'rhe (A) L m
voters and firing in the air. What will (B) 3m
you do ? (C) 30cm

. (D} None of the above
{A) Immediately stop voting.

96
\o

(®) Igl%rm police force siationed 25. The government has passed a;ﬁ%@‘r
%Mmﬂmkﬂmmﬂ]m making it mandatory for pfivate
\“\ hﬁspltalsmuealpmrpau%gﬁ free of
?ﬁe}o*? safety of important documents. ot ik Eu“mmm&bﬁmﬂ }E

¢ " have received a complaint that

K\Q"\\ (C) Ask the police to resist the o

poor patients are being cha:ged a3
previously by the private hospitals of
the city. What are you going to do ?

(A} You will order closure of “1‘

Maoists by force

(D) Give the Maoists whatever they

want and try to save lives. R such hospitals.
°" (B} Order to amest of some doctnrs
. ®¢g° involved. ©
& (C) Call a meeting of mafiagers [_{é’
23. A college swmdent after being @o{

such hospitals and ad ri%gzau
them o comply o S with

government orders. 6@4‘?’

expelled from college tries to v:umrmt\\b
self-immolation. The huge crowdss

egging him on. You reach the spot as (D) Order the ;‘-_L—'@é\ﬂahun n
a police officer first. What are you _ practice licence of doctors oi
going to do ? . these hospitals.
{A) After s:gld:.ng the stodents and 26. In 2 particular week the muan
hﬂmﬁ him from there. temperature  of  Monday 0
' Wednesday was 27 °C wod nesan
(E}Q&mast the student and provide temperature of Toesday to Thosluy
& him services of a psychiatrist. was 24 °C. I the ”’W'fm“‘;:_‘
\\ '12111::3:1:11. was 2/3 of the L upemater”
< (C) Go to the principal of the college @0 T;Mﬂuda‘;’, then the i wammn:ojé@
ﬂ]m-g = d\oé\(\ EA:' g.ulc \0§\°6
(D) Wait for more police force to .\\e,e (B8) 20°C \\&&
arrive before ordering a lathg® () 18°C <&
charge. (D) None of these
' PIAMRELT
SET-C AR
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;L&?ﬂﬁ (B) 168 fdt

,..

-:\\\? o7 fe (D) 128 ety g2
& b 8
3 Peddsndbmndmiir 2o

22 4
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Q

X0
L

27, The value of

2 5
%a—ﬂ T3 n.fa
: =w 1.24, is
o e, | :
3 + 078 = -
46 13
(A} 75 (B) 75
26
(€ 735 (D) None of these

o)
28, "Iheooqf;ﬂy wage of a person is
@ibeam:d by 15%. The person now
oﬁgels T 230 per day. What was his

& > daily wage before the increase 7
Y (a) 7202 (B) ¥210
©) T212 (D) T 200

29. A batsman had scofed a total of 750
runs before the last test match of the
season. In his last two innings of the
match he scores only 6 runs, and his

32, The cost price of 23 articles is eqval
to the selling price of 20 articles. The
gain percentage, is
(A)y 20%

(B) 25%
{C} Noloss, no gain
(D} None of the above

% .

33. A bag contains ome mupees, fifi
paise, twenty five paise and ten o&ﬁi
coins in proportion I :3: 5 \3‘? If the
total amount in the bag is ibq.:l 25, the

" number of fifty paise c@iﬁs is

(A) 13 (B) 23
(C) 33 (D) 5

3. If 4 men can reap 40 acres in 30
@da:,rs, then how many acres 18 meu

OOQ' will reap in 12 day:. ?

N : : RN
average drops by 2 runs. His final ¢°&®% (A) 72 acres (B) 12C,zcres Q.°°'
average of the season, is & (C) 160 acres (D) 20 ac: ;;-

(A) 30 runs &&.\\b &
(B) 25 runs < 35, 1In the bar diagram g:in{gz?bd:mw is
(C) 28 runs data pemaiming to the@}udu:i'nn of

(D) None of the above

30, A man travels 1/4" part by scooter,
3/8" by car gnd the rest 48 kms by
bus of TJQe total travel. The total
dmam;;%w:md by him is

(A 48 kms (B) 168 kms
@} 127 kms (D) 128 kms
,@Q
31.  Which one of the following fractions
is less than 1/3 7
2 4
A 5 B) T3
15 33 &
© 3¢ i
SET-C

cycles in each year hv a Company.
After studving the diagram find cut
the percentage drop inm cycle
production between the vears 2011
and 2012.

120 10 sy
1 4 5:':'

® | | -

o] 1 ©
0‘ i i OGQ
HM vl
> 20 1
\\QOQ ‘!> éi | |

N Ww 2009 zﬂ‘.\e& 1 sz
' m;- @Y 30%
(C) 15% (D) 25%
PIASTI0L3
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\0
R

7% TAEN I B g wive = A — TTE B F
(36-38) % =ww difad o s
AT A AT D — et
' LosEil E - T ot = o
Eric] T Talm vy % F — B wrt it oy @"Qp
e 310 U0 | 169 | 137 | 140 | 120 \Qap"o
i a&s 179 | 177 | 162 | 140 | 122 &
-:qq@oé@ 320 | 160 | 188 | 173 | 135 | 130 o ;Zﬁia;“ﬂ W mﬁﬁgﬁ
Wt | 326 | 167 | 187 | 130 | 146 | 130 i
& i i Tl & 2 97,500 &, 7 g Towe! Tt
K 321111:“:: 185 | 178 | 145 ol 5 & o7 79
; N
36, T v [ W e SO o Lay-¥'6,500 ru;}ff
T fiom e & o v, 9 M 14,625 0y 7€ oo 30
Tﬁ::r% &r; @@0: 11,250 =—FF i
(&) Fedimg ol &) w3 B s
®) 7 & &
"LQJIEE ..bQ’A &’b
(D) st ST} #ﬁﬁfhﬂﬁmmﬁ}fﬁmg\ﬁr

»®
eI S () ST 80 7 &\ ﬂ+%,r

(A} % 9,000
\(BY 227,000 Eweh!f ;‘f B
(C) ¥1,333.33 ﬁt@

(D) T 15,000 - por
dkTm e 1750 Ead (L
ﬁmﬁb%%'r? ’fjf;g? rIFESS
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e

Directions (Q. Nos. 36-38) : Production of Directions : Study the pi_f: chart given
fertilizers by six major companies of india below and answer the Question Nos, 39, 40
during the year 2012 for the months of & 41.
April to August are given in the following P —
table. Study the table carefully and answer Sy
the questions {36-38) given thereafter : e
Production in Lac tonnes s
Month Eﬂ?m E — Advertisemant Chorges
.!_ 11 mi | Iv ¥ hil | F —» Binder"s Charges on'\o
April | 310;T180 | 169 | 137 | 140 | 120 %%oo
386 | 179 | 177 | 162 | 140 | 122 &
E &"%32{1 160 | 188 | 173 | 135 | 130 39. If the total salel from the E@s}: is
]ulapé"& 326 | 167 | 187 | 180 | 146 | 130 % 97,500 including 30%frofic on
Wugust | 327 | 150 | 185 | 178 | 145 {128 production cost, then ﬁa@?o;rnlg is
N (A) 6,500
36. In which month does company No. TL
have a contribution of approximately (B) 14,625
159 in the total fertilizer production 7 © 11250
G e o\D) None of these
(B) May \0°Q. "
e & 40, 1f the miscellaneons charges S
'-\\b T 6.000, the aﬂverﬂsm‘rﬂﬂtchm'é@em
37, In which compeny, there <& e@%\
continuous increase in production (A) 9,000 &\\
over the months 7 B) T27,000 &
(A) I =
{B) Ti (C) ¥1,333.33
@m @) T 15000
oy v &
K
QO
N\ - . i T .|,_l|5: ;
38 h&&’?: month of June, how many 41, If the cost of Iirufmuuh 17,
@ﬁ\?ﬂpﬂﬂiﬁii have a share of more than then the royaity is
Q.\\sz% of the total production of p £ €7.500 .\Q
& fertilizers of that company 7 . & , OQSJo-
(4) Two & (B) T15,000 &
.\Q .\
(B) Three \\JOQ (C) 3500 Q}OQQ
{C) None ‘\\be \6@
(D) Datz insdequate & (D) T730 é&'\ ﬂ
SIASTEBORY

Downloaded from : http://www.developindiagroup.co.in/
14



MPPSC Prelims Exam 2013 General Studies (Paper - II) Answer Key

forier « Enfirfior dhuin @ o i seE
Imrm B o ouwt we 42-46) oI
AEAE | T OWET % IO e oEE W

et gt ufid

SRl o TR S sy qEET e E | i
ﬁmmﬁﬁmﬁﬁﬂﬁmm
aﬂmmwﬁ*ﬁﬁmmﬁwaﬁﬂm
ﬁﬂﬁﬁﬂi@maﬁmﬁﬂ?ﬁﬁwﬁﬁﬁ?&tﬁ
Wgﬁm | g Fomn = T W S
Wﬁﬂzﬁwﬁﬁl

\\@ ot ferd it vl i o e
=it ¥ wfew v anE ¥ W @ % e
T SR e we i  weehe oie
= S B A W W o wialRet gee
e e W P s ) o9 ool
i T G © ¢ e i @
wiaffem % savmsm e B W & e
v Pl # v vee s = s i

w W b | i e # e wie w= S

YTHE BT € | 9% S99 AT TH U e
A € T S0 OEET e et o ey T
T4 | G e € T W Oad Sl §
G T ST e

L1

Q.\\ PlEGICe R 3 "F[TE‘FFFIQ-' i

Y U S F A Wi W
:;f"f’r%i

T i 1

e R
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DHrections (. Nos. 42-46) : Read the
following excerpt and answer. guestions
asked at the end. The answer to the
questions should be based on the excerpt.

The true source of rights is duty. If we all
discharge our duties, rights will not be far
to seek. If leaving duties unperformed we
mun after rights, they will escape is like a
‘will-o0" l.h&&'u:p The more we pursue

\\b To me political power is not an end
but one of the means of enabling people to
better their condition in evéry department
of life. Political power means capacity to
regulate national life through natonal
representatives. If national life becomes so
perfect as to become self-regulated, no
representation becomes necessary, there is

then a state of enlightened anarchy. In sech \\t@

a state everyone is his own ruler. He migs‘é‘
himseelf in such a manner that he is never a
hindrance to his neighbour. Thoreau states :
“that povernment is best which governs the
least”.
R
Which ugﬂne following inference can
be drﬁg??i‘l from the above excerpt ?
@OQNamnal life is regulated
\\b through national representatives.
& (B) Political power
national life.
(C) Representation is not the best
way to exercise power,
(D) MNone of the above.

4.

is given 0

SET-C

1

@/

5
43,

&”Q"

>Q45.

&7’%

BN
N
R
&

&
(9’

oQ {D) Mone of the above.

Which of the following statements is

true in the context of the above

excerpt ?

{(A) Enlightened anarchy is wvery
common,

(B} Self-regulation leads 1o
enlightened anarchy.

{C) Self-regulation means self—
representation.

(D) National life becomes perfe{stQ
when there is no self- regulﬂ

\OQ

What is the meaning ﬂf\\‘fhﬂreau -3

statement ? &

(A) The path of tue governance
leads to no governance.

{(B) Less governance leads to beiter
governance. )

(C) No governance means best
pOVernance.

‘.\“

&

&

Which of the following znfemnccséc??ﬂ

be drawn from the above txmr@’#

(A) Duties follow rights. AQ\OQ
(B) Duties u::parfm*wu\k? s
rights well perfl

(C) Duties well perfnnnmi means
tights well performed.
{D) None of the above.

With reference to the above oxcorp,

which of the following state

cogrect 7

(A) Political power is about ne
oF life.

IS 75

13

general good of the peapt..
(C) Social conditions
political power.
(D) Political power ,59\ refated o
ends.

nine

&
o

OQ{E} Political power i3 abont ié':ﬁs'

FRAAVRTS
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ar

Directions (Q. Nos. 47-51) : To see the
universal and all-pervading spirit of truth
face to face one must be able to love the
meanest of creation as oneself, And a man
who aspires after that cannot afford o keep

48. Which of the following cannot be
concluded from the passage ?
(A) Purity of heant leads to God.
(B) Self-purification is an infectious

process.
out of any field of life. That is x:u.-hy my (C) With ahi s S e
devotion to truth h;r; drawn me. mmnt E: pirieatioii
s + _ .
field of politics; and I can say witho T Sl et ciar: e R
slightest h:mtauun. and yet in all humility, purific e
that those whgp%a:f that religion has nothing BEVELL penance. &
to do wg@’ politics do not kmow what \o¢\°
rﬂhglﬂa\m 49, Which of the following lgbeﬁm true
\&’J Idml:ﬂcaum with everything that *fauzzr.:ln:-rdu'ngmﬂ:rt:p:!ﬁma:‘lgfs(?Q
d?"fEE is impossible without self- {A) In order to realize Truth one
pmﬁcaﬁnn;.wmmut self-purification the must love all creatures,
observance of the law of ahimsa must (B) Love is the basic aspiration of
temain an empty dream; God can never be R —
realized by one who is not pure of heart. () A seeker of Trth seeks it in
Self-purification therefore wmust mean & patifios alks. H
purification in all walks of life. Self- &®¢,§° S &S
purification is infectious. & {1} Doz o e 800w, K
1 &
g 5°
. follow usi ,@*\\ 50, According to the excerpl wl*oqéh of
A TR gf e ﬁ‘{;;m:gfmc;e:ﬁ the following is comect ? \e>®
rawn WhHaL 18 5
gkl {A) Poliics and n:hgﬁn are not
the passage 7 { _
i separate.
) X s Gl Tr;? e (B} Politics is a noble profession.
e
must be able to see oneself ev (0% Pulbicsih AboRE et
0 thl:tm;lgﬂ BTG i (M Nooe of the abore
(ii) Gﬂd:ggmdes in the pure hearted. - '
(A) Qﬂl“ conclusion (1) can be I 51, Which statement can he oo
@ . 1 from the above excerpi 7
\f\&i} Only conclusion (i} can be "J'bf Truth and Love ars disjointes 0.\0
< . | @‘ﬁﬂ} Troth and Love are d::rn@
(C) Both conclusions (i) and (ii) can &7’ connected. c\%
&
]:ﬁdﬁlwm @\Q}O {C} Trath is ihe smarch Ir_-:q‘/ﬁﬁ-.eﬂa
(D) Neither conclusion (i) nor (ii) Q-.\\ spirit. N
can be drawn. (D) Bumzass are mea: oSreatures
TR
SET-C i
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- l.-l} . n
pirections ((Q. Nos. 52-55) @ For gach of © 56. Which of thalfnilcwmg cannot be a
the. following words below a context is possible outcome of interpersonal
provided. From the given alternatives pick commumication 7
ol Lpfﬁﬁ:tlﬂ s (A) Listener folly agrees with the
meaning in the gi
message.
52, Feminism : Feminism is a movement (B) The listener neither agrees nor
for a particular type of social change. disagrees with the message. O.'\Q
{Aj a ma@nr opposing  women’s (C) The list Pﬂmﬂ“:f i &@
o the message. oQ
}g&’ ﬂlﬂm'j" that explains difference e
\oQ between men and women. (D) The listener does ﬂﬂZQ@fﬂ
X0
\\b"’ C) 2 theory about  poverty ﬂ‘lﬂﬂ_!mﬁ-ﬂﬁ't« &
alleviation amungstwnmm
(0 a. Tooncy avp] g ome 57. Which of the following statemenis is
rights. not ftrue in the context of
communication 7 .
£3. Yamn : He spun an elaborate yarn to #4) Communication is optional for
hide his shortcomings. %0°Qp SR .
i : I é\o&ﬁ (B) Communication relates to I{mgqé’
gg:; ) loth b@@o standing traditions of sucml%.boo
strong ¢ \\ ;
(D) none of the above K (<) cmpﬁEmTMI
are one s.aum\ ing
54. Robust : The athlete has a robust (D) Maximum dgugﬁmﬂu in ihe
constitution. field of communication Mok
{A) forceful place in the 21" Century.
(B) healthy
oS
termfied .
x d;g;\.&ﬁﬂ 58. Communication 58 & COSIDwHIS
[Dj Z\“ | dynamic process. It establishe; co-
55 ,u;:mnal '[Hc]’a{mhqp ﬂ!' tii,!_'-' D!"ﬂ'li'ulﬁt‘:t': ar':'!:I'I'IgE'J WEJ- ] {.'-'f o
Sproletariat is a phase in social Q{&ﬁuw'::m 9 de_\o
evolution. _ <° iA) News and source. oéo\’
ttals &
i i \o¢‘° (B) Sender, m:ﬁmrmdmﬂ@gc
i 5
e .-::tam .\\bq (<) Emdarandmewnr\»\b@
{C) the trade unions & .
(D) none of the above () Sﬂummsmm 3
SET'{: Pr-;if’.’.'_".--'\j.:-\.-'
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/yxﬁrﬂrﬁﬂﬁﬁﬁﬂ?mmﬁmﬁfﬁ 62, TEMSET HT TR WOET S SWE
Y g & 1 W e w9 ¢
" Ay v o Tearens wiwEsd S & W

(B) i T o |
e e 4 Frefaia 5 8 S W
- m Fert Bt mEm £ ?
SRR EA}E&’rﬁ‘rmﬁiﬂirmlﬁtﬁﬂrﬂ
€ \fz,% :
60, famr S oy foem Wi afiv
ﬁﬁhﬁ:ﬁﬁ | @?ﬁfmm Tl
i T |
6’”& E} iii:?ﬁi?%fm | (© Eﬁ#mﬁwmm# n
(i) T g W Pl SO W m}_ﬂﬂﬁﬁqﬁﬁﬂm?'
FHOAT |
(iv) T & o e = W g 63. mﬂ%ﬂ_ﬂiﬁﬁﬂﬁﬂhﬁi’:
WA \\»QI e et w5 |
(A) A (i) OQ\&*Q’% Il & & A g ooq.&'
() A A1) .\\&’f h 01, e \Q&@@‘
() R TR A F A L & PP A b@@\&
D) SO T S retefirn 3 3 i e g
(A) Eet 10, I o IV
61, o=t feedt ¥ @ W wW 9En EEew @) e L, IIner TV
il e 1, I e [
i) rw@*ﬁaﬁmm | ﬁmm =
(it} za:é?‘%uﬁﬁrwfam I
\B@%nmmmﬁ?ﬂ‘ﬁfil S8 i R
&.Ql':ﬂ-',l o o A dra ar o qﬁ‘qﬁm! ks 90
)
bl & ) s &
(A) (), G, G, i), (V) ol ¥ &
(B) (. G G¥), 0, 0) R o g o
r{;:;" @, i, (v), Gv), @) X t;.‘;/ sl &
{ (i, (v), (v ,l'h A L
?11}1{3 u;f}'[} J R
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. =1 .
g9, Which of the fmlm'?-ing 5 Dot a 62. I;;::Eal:;f 'li u:;:;z:zf[dh:hbq Hﬁ;
i Company realizes that its operations
() Feadaack are in competitive indusiries.
(B). Halo etict Which of the following conclusions
(C) Moise may be inferred from the above
(D) Dogmatism statement 7 _
(A) The ABC Company's market 15 ¢
60. Choose oms of the following options monopelisgc: %.::
re.gag.é;i}m objectives of (B) gﬂﬁl‘}iﬂ; E iﬂ:;?nad \2:.(\6
éP,? To revive peoples’ memory. (C) The ABC Enmpang\\is a public
\\ (ii) To enlighten about the product. : company. -
< (iii) To establish a product on the (D) The ABC Company iz Joss
national stage. - making.
{iv) To create new market for the )
product. -u‘j.E!.+ QBEII'RIS of communication include
{A) Only (1) & OQ k Fﬂwmghﬂﬂmﬂ -
(B) Only (iv) \c?\&’\ IL. Infnr@m overload .,\o"Qp
(C) Mone of the above objectives. ‘\\b?fe IIL Mﬂﬂl’iwmﬁ“ .\@fb%
(D) All of the abave cbjectives. <& IV. Integrity of purpose  oo°
Choose the correct m& from the
‘(\
61. Choose the option indicating the fzu:;rm;[ il
GOTECCRGURIEn. (B) 1, Il and IV only
(i) The hnusg was across the road. (1.1 end Ml ooy
(ii) He re:.sﬁgmz::dtha garden. (D) Al e i ibene
(idi) Héhﬂw where he was.
[ﬁw? HE’ was in Allahabad, of courss. 4. hich of the Salowing i &
&Q {ﬂ On Lowther road. c,Q:: !..ha messags i CONMMIMG. .15 90.'\0
(A) () ), (), (v), () 1 & (&) Postuce &
(B) (i), (iid), (v, v, ) qp@“ (B) Gesture o
(C) (i), (i) (v, (v () &\\b (C) Symbols \\e&
D) (), (i), (+), @), (i) . @) Active listeaing™
T AR
SET-C : A
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6 s g g (0°

6

e
2, 12, 36,7, 150

(a) 72
(B) &0
=Y 54
©) 84

&N
(JO

66. wmﬁwiﬁﬁﬁuaﬂﬂ A FEEN
’@‘t‘n Wit 3 sl wet W A T
\6°qmﬁrm%"ﬁ;ﬁﬁ#r¢}1tl
Pew 8 W W W oA R W €A
Brepd} =5 sl gk T £ 0
(A) A 3 i o 36 F sufEa 4
(B} A ST H W E T A7 |

Vot # A & &7 % T ol
Tyl I 9 | \\be

(D) A i @ W R
Ty | og

@

7. w90 wew § | e ol e
W W %A O AT TR Framtl &1
aﬁﬁiﬂﬁﬁf 13"1?131‘['*'{'1%%'?.‘43"#13
ﬂqgs@ﬁﬂim"tmﬂ—rm‘%"

@i\:ﬁﬁa?ﬂﬁwm I W
T TEET o R Ee B

b 3 v s A A
(©) wh |
(D) T = R S

&

PIAMI3

OQ

\\Q/

68. =M e svit § g9 SR AW T W
Frdr T AT Tl 3 @ U N B9 W A
m=E i HET R

a_bc_a beda_ced_bed_

(A) acbdbb (B) adbcad

(C) adbbad \(@Dy-abddbd

STEATE, ST W S T wE €
ProveRagEes U TEEa |
ey Tt (B) ‘iﬁﬁﬁlﬁr
(C) W (D) TaRir o
b\
mﬁruﬁmmﬁﬁaﬁmwaﬂﬁ
X T, T T ¥ AW R 2 T
¥ I\ A & o = T A
¥ = e g
(A) FrEt
(C) =

70.

(B) 3
e GiE e

™ % ™ " wE, CHE AR «WFI"r
ST = T ¥ T e WA
°Qﬁ?n' | T & T # T e P 7
(A} 2 By T
(C) &% (D) F9L

72, i s seE fale fﬁé‘%’fﬁ'&
S A A \\b
R = 5“%
T: U :Em
?:?ﬂiﬂl W T S
X:d%98 :
aﬁmmﬁﬁ%ﬁ\#ﬁﬁmﬁﬁ
7 7 = ar ey e &
(A) 16R254V6RE
(B} 20R4U432W3
EG'{: 1SUSW3IR2ZT3
) 30R6UIWATS

71.

&”Q"
X
4\0

\,bco

<
AN

o

N

&

&

9°'

@y Tt st Soft F gm0 E;q,%
AYBZC, DWEXF, Gmo{smu

(A) MQORN %&;ﬁwn
(C) NQMOR (D) QMONR

SET-C
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23 :
issing number. 68. In the following sequence some
b letters are missing, which are given
2,12,36,7,150 in that order as one of the four
(A) 72 alternatives under it. The cormect
alternative is
B e a_bc_a_beda_ced_bed_
{C) 54 (A). achdbb (B) adbcad
84 (C) adbbad (D) abddbd
e 69. Immigration is related to Asrival in o8
e © the same way as Emigration mQ
ﬁﬁ.htaggﬂiyinf’amacmﬂidamh related to i &
“ t Native &
dez;lq@%d : “Nearly everyone at the {EJ} Eﬂug:u*!l Egi th@oQ
y is behind me. [t]mkﬂhkelwﬂl (C) Leav
@?win“ 70. Pointing to & photc!grag;g\}t Wwoman
W ; says,“msnmnsmns\\mmmmn
" Which of the following statements, if mother-in-law". How is the woman’s
true, best supports the conclusion? hushand related to the man in the
i ?
's opponents were present in photograph
A 2 = {A) Grandson {B) Son
i {C) Son-in-law (D) Nephew
(B) A was never defeated in an . g,dﬁam told Shyam, “Yesterdey I
election. ¥ defeated the only brother of e
(C) The rally was attended by & daughter of my grandmother’. &
almost all the residents of A’ off Whom did Ram defeat 7 &
& {A) Son (B) Father ®
<ardtEes G (C) Brother (D) Fathggi-law
(] A was soppeniel B £ IDE\EII 72. Different letters stands 1  variows
gram pradhan. symbols as indicated beget :
R : Addition S : Subtraction
: T : Multiplication U : Division
ﬁ?. Rﬂﬂ]tsh i5 a vELY bad driver. He 1Ir'.Eq_|.|.ﬂJ:m W - Creater thar.
made at least six traffic violations X : Less than

during the e o3kt year. Which of the

!Gil::ml_ég czn be said tree about the

aﬂ:-n'ge r:lmn~ ?

\@Qﬁ The argument is built upon an
assump-ion that is not stated but
rather is concealed,

(B) The armument lacks material

.Q'

<

Which of the following niternany
wrong with reference to above ’t..* '
scheme 7
{A) 16R254YV6RS
(B) 20R4U452W3
%‘? ISUSWIRITS

oQ }

N
©

ORSUZWATS <

L (3‘3 The missing term in the fﬂ]k&@%“*
OQ

4 aiphabetical series Q"
evidenca. \\be AYBZC, DWEXF, 1'3‘:'.:'1—]155?4:‘-:’*'“ -
(Cy The argument 15 vague. &‘Q [;ﬂ: !'f'[QGRH B’\sr 'ﬁiﬂ-ﬂ*r «
(D) The arzument is totally lﬂﬂglﬁl (C) NQMOR (D) QMO
PR
SET-C ]
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e

falm ; Freivias GO @ weEE e | T aﬁﬁﬂiﬁﬂﬁ:ﬁﬂ:ﬂ%frﬂﬁﬁrﬁ
ik Tafeg s i
TR W T WEE I Al U gy W e
Faramer e asE E§ 1A, B, C. D ) TR T A # Ui TR WP B
A E W U g W | G,EH L3, o e S E |
ELTMUE: ST SR E |
() TFATSHBFET T m}ﬂﬁﬁﬂﬂﬁﬂﬁ!ﬂﬁﬁmﬁf
(i) - WEF B, ngm'c % ofirm 7 4 fedlt ot = e & e &
i e ﬁ_ .\lb%
i) wEED, e B e 1 P © “&“[’ﬂ'“m“":ﬂ@; &
X4 (D) e & 7 g W
{s@ﬁ'ﬂﬁﬁmHﬁi%&ﬁ#Hﬁmﬁ%l —T \&Q
\ﬁr} wEw L aeE ) ¥ el AT
vi) TEFK s LEuimt eI : .
(vii) vEE K, vew M ¥ | Redrem i E = A WA B
; wee A Famont | woqe # e
74, o OEwE, B AT C Fwe kA AT I et m’tﬁwﬁ
D o W W G o°Qp
(B) 1 fit béé& 78. mﬁqﬂhﬂcnlafﬂmﬂ@ﬁﬂ
oy 1.5 Pl é@‘-\\ ﬂﬁwnﬁquﬁaﬁﬁqﬁm
(D) 1.5 % 2 et ETE \\e@ ﬂf :
75 ﬁqﬁﬂﬁﬁmﬁm#w%* i : A‘ﬂﬂiﬂ‘ﬁﬁmh wé !
. (A) E 2 B e & faemt § 1 L. G,c%ﬁﬁimﬂl&mmhﬂw
(B} :}Hh‘; {ﬁ;}qﬁw;il = D:E_mmﬁf:wf’rta |
ﬂ?}go‘g sk ) v, ¢, 5 FE B % Tl AT A T
[[:-\bqﬁi L s T dE wEwoe e
s fefr ¥
“{,\{\Q\\m E B FRCEFImEMPA= I T Wﬁ#Eﬁ“ﬁ <9~_\o
T W AT ? @Qé\*? (A) A ¥ eT Sl WEE | oéo&'
{A}Dﬁﬁlﬁqﬁﬂﬁa 5 sl \Q
B} DR ISPt ST T | @ F e o
qm#cﬁqﬂﬁﬁﬂﬁmmﬂ Né (C) F ﬁmﬁ%mﬁ%\\?
TIa e |
e Eﬁ;’aﬂ!ﬁﬁrﬂﬂmﬁur?t }D*“ﬁﬁﬁm“%'
b R -“-Ifs i3 SET-C
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Directions : Study the following

information carefully and answer the
questions (74-76) given below :

All roads of a city are either perpendicular
or parallel to one another. The roads are all
straight. Roads A, B, C, D and E are
parallel to one another. Roads G, H, I, L K,
L and M are parallel to one another.

(i) RDHﬂAtslkmEastﬂfmadB

(i) Rmdnxe\;&kmwﬁt of road C.

(iii) angoi} is 1 km West of road E.

(iv) E:ﬁadﬂ:.s!-&kmﬂnuﬂ::u‘fmadﬂ.
|{v\§{e>® RMdlislhnNDIThﬂfrﬂﬂﬂL

i) Road K is % km North of road L.
{(vii) Road K is 1 km South of road M.

74, If road E is betwéen B and C, then
distance between A and D is
{A) ¥ km
{B) 1km
(C) 1.5 kms
(D) 1.5 to 2 kms. &
AN
75. Which of the following is necessarily
true 7
{A) E and B intersect.
(B) D is 2 kms West of B.
(C) Disat Lohs-'r. 2 ems Westof A,
(D M 1%°f 5 kms North of L.
&
T6. @ﬁ is between B and C, then which
&Q\}f the following is falze ?

fA) Dis 2 kms West of A,

(B) C is less than 1.5 kms from D.
(C) Distance from E to B added to
distance of E to C 15 Y2 km.

(D) Eis less than 1 km from A.

SET-C

o\

(@) Immediate left of E. o

77. Here, two quantities are given in
column A and column B, You have
to compare these two quantities and
mark,

(A) If the quaﬁﬁty in column A is
always greater than the guantity
in column B.

(B) If the quantity in column B is

(C) If the quantities m{g,e alwuys
equal. '»Q

(D) If the comparison cannot be
determined *~ from the given

information.
Column A Column B
0on*‘° No. of No. of sides of a
&®¢,§° diagonals of | Polygon i
S a Polyzon R

2
4
\(\6

78. Seven friends A, B, C, D, E Fand G

are sitting in a TOW [gﬂng South,
. such that
L A istothe immediate left of &5.
I G is fourth 1o the left of C.
Mi. Disbhetween B and F.
IV. C, who is third to the rizh: of B,
is at one of the ends.

Wi‘ii-:h of the following is e com
‘h_rahu:mﬂ E? o

&'8?0 (A) Imruediate right of A. <z>°'§o

(C) Retween F and G. \\°
(D} Fourth to the ir.:{t‘-*::[ L,

PrAMIONA
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ooy ; (83-87) 1 2 & Pl =t e
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fAw. oM P Q RS, T. U SRV
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| T =g |
(wii} uﬁfﬁmﬁtEﬂtﬂﬂTﬁﬁﬁl (il Tﬁﬁm‘m%“ﬁaﬁ
IWE S
79, ‘ﬁﬁﬁ'&iﬁﬁﬁ‘aﬁﬁmﬁmﬂaﬁ'ﬁﬁm %T S wer ¥ M o F St E
£ o T T T TR
(A) BE t‘BrDE [@" mw#ﬁqﬁm |
o D) AC %83, Q o s P Rrr wr R £ 0 o
Ki Wi ® wEE
9. i“ﬂ“@iﬂ?}ﬁm%\\ © =t (D) s A
3 84. ﬁmﬁémvﬁﬁﬂwﬁ'r@!h
(C) 5o = (D) | & (&) T
‘(\
g1, ufEw & e 9ew wEeEE (B) 3
(A) 4 UBY 5 -
(D) T & i =T
C) 3 AT HHE
A TR $5. U ¥ 3wt % B ow F A T
%2, Traffage % frqelt 9 don feee sk
'?3"5 6\’0& HF{“HTW
N (B) ==
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_\\bef f/\.} ©F ;g
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LAY, & @ ® w3
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-
Directions (Q. Nos. 79-81) : Study the | I'iIrec_tinus {_{]. Nos. 83-87) : Read th
following information carefully and answer dire::tlmus given below and answer the
the questions given below it : (uestions ﬂfﬂ;ﬂgﬂ"’ﬁ- ke b
(i) A, B,C, D, E Fand G are seven Direction : P, L, R, 5. .el T
members of the family. seven persons who trav T
(i) Six of them have a different everyday in a particular s Wh}‘*hﬂf&*
profession of Accountant, Lawyer, - at five stanons s Rewa, : ﬂliﬂﬂ.ﬂﬂ i':
Teacher, Manager, Doctor, Engineer Jabalpur and ltarsi respectively after
R e : leaves the hase station, . .
There married (i) Three among them get in train
R fmmiya:?\m i i the base station. fﬁ(f
s f (i) S gets down at station next o
il aq@‘?;r maﬂmfe s o station at which 1T gets down. \OQ
v) & is the father of B and the (iif) Q does not get down e:ﬂmw@Q‘PmT
T B {iv) V alone gets in at Ka@i and gets
& grandfather of G and is an ngmur bl it g gl e %ng i
,&\\rf} Mo lady is either an Engineer or H‘:ﬁgﬂ
Lawyer, .
= stndent i (v} P travels only two consecubive
o K Ll stations and ¢ets down at Itarsi. ;
- TR p— {vi) None of them gets in at Satna. :
= :EE;E E desiticg b ik (vii) R gets in with U but does not get in
. Jhith either Q or 5.
Eg] g]}g {{g; :ig {mﬁ}’[ gets in with two others and gets
“ &'b% down alone after 5. &
N ff
80. How Cis relatedwo G 7 Q><Q° (ix) Qand S work in ﬁ; 5“:;% e “"@
(A) mwm (B) Aunt \bQ’A they gz-tfdt?w'ﬂ mbﬁdﬂﬁf s 0L
. i 1= Wit & |.['.'!
(C) Sister (D) Mother & (x) None gm ge \\QI
membe 83, At which station de Q ﬂnﬁ\‘? gerin?
i Hﬂw Em?évﬂ};ﬂﬂ TR ey {A) Rewa (E&%%E_stﬂﬁmu
a (C) Katni (D) Data inacequite
B 5 $4, After how many stations does T getdown 7
(C) 3 (A} One (B) Two
(D) Inadeqpdte data (C) Four () None of ihas
Q" § i
§2, How (B&;} mqpi,ﬁ are there in the 85. T gets down how many siaions aity
fI:rlgs&rmc- figure 7 U gets down 7 -
‘,-"l "'f"'.j loxt station  {B) Thre
\\be J \‘h % Two (1) WNone . des jo
(, .\
< Eﬁ%o it which station does T get c‘fwm oQ
\@\7’ {A) Satna (B} ‘iaw
S
,&'-\\ 87. At which station do R ugdsz getin”
{A) 26 {B) 23 & (A) Rewa S ::_mt'?.f_: L
(C) 28 (D)) Nooe of these | (Cy Kated §a]] i,‘iam'“mﬂ* ,
SET-C ; Fy E T L
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